## THE SIGN OF THE WAVE SPEED FOR THE LOTKA-VOLTERRA COMPETITION-DIFFUSION SYSTEM

## Jong-Shenq Guo

Department of Mathematics, Tamkang University 151, Yingzhuan Road, Tamsui, New Taipei City 25137, Taiwan

## YING-CHIH LIN

Department of Mathematics, National Taiwan Normal University 88, Section 4, Ting Chou Road, Taipei 11677, Taiwan

(Communicated by Shoji Yotsutani)

ABSTRACT. In this paper, we study the traveling front solutions of the Lotka-Volterra competition-diffusion system with bistable nonlinearity. It is well-known that the wave speed of traveling front is unique. Although little is known for the sign of the wave speed. In this paper, we first study the standing wave which gives some criteria when the speed is zero. Then, by the monotone dependence on parameters, we obtain some criteria about the sign of the wave speed under some parameter restrictions.

1. **Introduction.** In this paper, we study the following Lotka-Volterra competition-diffusion system

$$\begin{cases} u_t = u_{xx} + u(1 - u - kv), \\ v_t = dv_{xx} + av(1 - v - hu), \end{cases}$$
 (1.1)

where u = u(x,t) and v = v(x,t) represent population densities of two competing species, and a, h, k, d are positive constants with certain ecological meanings. Indeed, a is the intrinsic growth rate and d is the diffusion coefficient of the species v, h is the inter-specific competition coefficient of the species u and k is the inter-specific competition coefficient of the species v.

The relations of parameters h and k influence the asymptotic behaviors of (u, v). In fact, for (1.1) with initial data  $(u, v)(x, 0) \ge 0$ , the asymptotic behaviors of (u, v) can be divided into the following four cases:

- (1) If k < 1 < h, then  $\lim_{t \to \infty} (u, v)(x, t) = (1, 0)$ .
- (2) If h < 1 < k, then  $\lim_{t \to \infty} (u, v)(x, t) = (0, 1)$ .
- (3) If  $\min\{h, k\} > 1$ , then (1,0) and (0,1) are locally stable and almost every solution converges to one of them as  $t \to \infty$ .
- (4) If  $\max\{h, k\} < 1$ , then

$$\lim_{t\to\infty}(u,v)(x,t)=(\frac{1-k}{1-hk},\frac{1-h}{1-hk}).$$

2000 Mathematics Subject Classification. Primary: 35K55, 35K57; Secondary: 92D25, 92D40. Key words and phrases. Wave speed, bistable, competition-diffusion system, traveling front. Corresponding Author: J.-S. Guo. Tel. #: 886-2-26238628, Fax #: 886-2-26209916.

The system (1.1) has been studied very extensively with monostable or bistable nonlinearity. For instance see [1, 2, 3, 4, 5, 6, 8, 9, 11, 12] and references therein. Throughout this paper, we only focus on the bistable nonlinearity. In other words, the parameters h and k satisfy the bistability condition  $\min\{h, k\} > 1$ .

We say that (u,v)(x,t) is a traveling front solution of (1.1) with speed s if  $(u,v)(x,t)=(U,V)(\xi)$ , where  $\xi=x-st$  for some functions U,V (called wave profiles), such that  $(U,V)(\pm\infty)\in\{(1,0),(0,1)\}$  and  $(U,V)(\infty)\neq(U,V)(-\infty)$ . Therefore, the traveling front problem (**P**) can be written as the system:

$$U'' + sU' + U(1 - U - kV) = 0 < U', \tag{1.2}$$

$$dV'' + sV' + aV(1 - V - hU) = 0 > V', \tag{1.3}$$

with the boundary condition

$$(U,V)(-\infty) = (0,1), (U,V)(+\infty) = (1,0),$$
 (1.4)

where  $(a, h, k, d) \in \mathcal{P} := \{(a, h, k, d) \mid a > 0, h > 1, k > 1, d > 0\}$  and s = s(a, h, k, d). For the study of traveling front solution of (1.1), we refer to, e.g., [1, 2, 5, 6, 10].

By the change of the variables  $(\tilde{U}, \tilde{V}) = (U, aV)$ , problem (**P**) is reduced to the following problem (**P**):

$$\tilde{U}'' + \tilde{s}\tilde{U}' + \tilde{U}(1 - \tilde{U} - c\tilde{V}) = 0 < \tilde{U}', \tag{1.5}$$

$$d\tilde{V}'' + \tilde{s}\tilde{V}' + \tilde{V}(a - b\tilde{U} - \tilde{V}) = 0 > \tilde{V}', \tag{1.6}$$

with

$$(\tilde{U}, \tilde{V})(-\infty) = (0, a), \ (\tilde{U}, \tilde{V})(+\infty) = (1, 0),$$
 (1.7)

where  $(a,b,c,d) \in \tilde{\mathcal{P}} := \{(a,b,c,d) \mid 0 < 1/c < a < b, \ d > 0\}, \ \tilde{s} = \tilde{s}(a,b,c,d) = s.$  Here, for given a and d, we have the following relations between parameters (h,k) and (b,c):

$$(h,k) = (b/a,ac), (b,c) = (ah,k/a).$$
 (1.8)

We now recall some known results as follows. In [1] or [2], they proved the existence of traveling front solutions. In [10] (or [6]), they studied the existence of traveling front solutions with s=0 (i.e. the standing wave). In [5], Kan-on derived the monotone dependence of the wave speed on the parameters a,b,c. In [11], some exact solutions of (1.5)-(1.7) are given and the wave speed can also be represented explicitly under some parameter restrictions. But, little is known about the sign of the wave speed. In fact, the speed sign is an important matter because it decides which species becomes dominant and eventually occupies the whole domain. From the biological point of view, when the speed s is positive, the species v is dominant and the species v goes extinct eventually for those initial distributions which are close to traveling waves in an appropriate function space (cf. [2, 7]). On the other hand, the species v wins the competition in the above sense when the speed v is negative.

Now, we list the main theorems of this paper as follows.

**Theorem 1.1.** Suppose that a = d. Then we have

$$s(a, h, k, d) = \begin{cases} > 0, & \text{if } k > h > 1; \\ = 0, & \text{if } h = k > 1; \\ < 0, & \text{if } h > k > 1. \end{cases}$$

**Theorem 1.2.** (i). Suppose that a > d. Then s(a, h, k, d) > 0, if h > 1 and  $k > (a/d)^2 h$ .

(ii). Suppose that a < d. Then s(a, h, k, d) < 0, if k > 1 and  $h \ge (d/a)^2 k$ .

**Theorem 1.3.** For any l > 0, s(a, h, k, d) and s(la, h, k, ld) have the same sign.

**Theorem 1.4.** Suppose that a>d. If  $1< h\leq 1+d/a$  and  $k\geq 2$ , then s(a,h,k,d)>0.

Note that the condition in Theorem 1.4 is not *totally* included in the condition in Theorem 1.2 for a > d, since  $(1 + d/a)(a/d)^2 > 2$ . More precisely, we have

$$\{(h,k) \mid 1 < h \le 1 + d/a, k \ge 2\} \setminus \{(h,k) \mid h > 1, k \ge (a/d)^2 h\} \ne \emptyset.$$

**Theorem 1.5.** Suppose that a > d. If h > 1,  $k \ge 5a/d$  and  $(3ah - d)h \le (4a - d)k$ , then s(a, h, k, d) > 0.

Rewriting the set  $\{(h,k) \mid h > 1, k \ge 5a/d, (3ah - d)h \le (4a - d)k\}$  by

$$\left\{ (h,k) \Big| \ h > 1, \ k \geq \frac{5a}{d}, \ k \geq \frac{3a}{4a-d} \left( h - \frac{d}{6a} \right)^2 - \frac{d^2}{12a(4a-d)} \right\},$$

we also see that the condition in Theorem 1.5 is not *totally* included in the condition in Theorem 1.2, if a > d and  $(4a - d)a^2 > 14d^3$ .

**Theorem 1.6.** If a = d/4, then we have

$$s(a,h,k,d) = \begin{cases} >0, & \text{if } 1 < h \leq 4/3 \text{ and } k \geq 5/4, \text{ except } (h,k) = (4/3,5/4); \\ =0, & \text{if } h=4/3, \ k=5/4; \\ <0, & \text{if } h \geq 4/3 \text{ and } 1 < k \leq 5/4, \text{ except } (h,k) = (4/3,5/4). \end{cases}$$

Theorem 1.6 shows that, when a=d/4, we have s(a,h,k,d)<0 in the region  $\{(h,k)\mid h\in [4/3,16], k\in (1,5/4]\}\cup \{(h,k)\mid 16< h<16k, k\in (1,5/4]\}\setminus \{(4/3,5/4)\}$ 

which is not contained in the set obtained in Theorem 1.2 for a < d.

We organize this paper as follows. In Section 2, we give some preliminaries and some results about the standing wave in terms of parameters. Next, in Section 3, we offer the proofs of the main Theorems. Our strategy is to derive some useful information about the standing waves in terms of parameters. Then, by the monotone dependence on parameters, we can determine the sign of the speed in those special situations. There are still many cases left open.

2. **Preliminaries.** In this section, we recall some known results about the problem  $(\tilde{\mathbf{P}})$ . We say  $(\tilde{U}, \tilde{V})(\xi)$  is a monotone pair if  $\tilde{U}(\xi)$  is increasing and  $\tilde{V}(\xi)$  is decreasing. In [5], Kan-on derived the following fact that for any  $(a,b,c,d) \in \tilde{\mathcal{P}}$ , there exists a monotone pair  $(\tilde{U}, \tilde{V})(\xi; a, b, c, d)$  and  $\tilde{s} = \tilde{s}(a, b, c, d)$  satisfy (1.5)-(1.7). Moreover,  $\tilde{s} = \tilde{s}(a,b,c,d)$  is unique and  $(\tilde{U}, \tilde{V})(\xi; a,b,c,d)$  is also unique up to translation. On the other hand, for any d > 0 and for any positive numbers b, c with bc > 1, there exists a unique positive number  $\bar{a} = \bar{a}(b,c,d) \in (1/c,b)$  such that  $\tilde{s}(\bar{a},b,c,d) = 0$ .

As for the monotone dependence on parameters about  $\tilde{s}(a,b,c,d)$ , we have

$$\frac{\partial}{\partial a}\tilde{s}(a,b,c,d) > 0, \ \frac{\partial}{\partial b}\tilde{s}(a,b,c,d) < 0, \ \frac{\partial}{\partial c}\tilde{s}(a,b,c,d) > 0, \tag{2.1}$$

if  $(a, b, c, d) \in \tilde{\mathcal{P}}$ . From this, we also have the following property about s = s(a, h, k, d):

$$\frac{\partial}{\partial k}s(a,h,k,d) > 0 > \frac{\partial}{\partial h}s(a,h,k,d), \tag{2.2}$$

if  $(a, h, k, d) \in \mathcal{P}$ . But, we do not know the monotone dependence on the parameter a for s(a, h, k, d).

Now, we focus on the case when s(a, h, k, d) = 0. The following lemma can be proved by the uniqueness of wave speed and a suitable change of variables.

**Lemma 2.1.** (1) There holds s(1, h, h, 1) = 0 for all h > 1. (2) Moreover, if s(a, h, k, d) = 0 for some  $(a, h, k, d) \in \mathcal{P}$ , then s(d, k, h, a) = 0 and s(la, h, k, ld) = 0 for all l > 0. In particular, s(d, h, h, d) = 0 for all d > 0, h > 1.

*Proof.* (1) Let  $(s, U(\xi), V(\xi))$  be a solution of (**P**) with a = d = 1 and k = h for some h > 1. Then, by setting  $(U_1, V_1)(\xi) := (V, U)(-\xi)$ , the functions  $U_1$  and  $V_1$  satisfy the following system

$$\begin{cases} 0 = U_1'' + (-s)U_1' + U_1(1 - U_1 - hV_1), \\ 0 = V_1'' + (-s)V_1' + V_1(1 - V_1 - hU_1), \end{cases}$$

with

$$(U_1, V_1)(-\infty) = (0, 1), (U_1, V_1)(+\infty) = (1, 0).$$

By the uniqueness of wave speed, we have s(1, h, h, 1) = 0 for all h > 1.

(2) Suppose s(a, h, k, d) = 0 for some  $(a, h, k, d) \in \mathcal{P}$ . That is to say, there exist functions  $U_2$  and  $V_2$  satisfy the following system

$$\begin{cases} 0 = U_2'' + U_2(1 - U_2 - kV_2), \\ 0 = dV_2'' + aV_2(1 - V_2 - hU_2), \end{cases}$$

with

$$(U_2, V_2)(-\infty) = (0, 1), (U_2, V_2)(+\infty) = (1, 0).$$

By defining  $(U_3, V_3)(\xi) := (V_2, U_2)(-\sqrt{d/a} \xi)$ , the functions  $U_3$  and  $V_3$  satisfy the following system

$$\begin{cases} 0 = U_3'' + U_3(1 - U_3 - hV_3), \\ 0 = aV_3'' + dV_3(1 - V_3 - kU_3), \end{cases}$$

with

$$(U_3, V_3)(-\infty) = (0, 1), (U_3, V_3)(+\infty) = (1, 0).$$

Again, by the uniqueness of wave speed, we have s(d, k, h, a) = 0.

At the same time, the functions  $U_2$  and  $V_2$  also satisfy the following system

$$\begin{cases} 0 = U_2'' + U_2(1 - U_2 - kV_2), \\ 0 = (ld)V_2'' + (la)V_2(1 - V_2 - hU_2) \end{cases}$$

for any positive number l. By the uniqueness, we also have s(la,h,k,ld)=0 for all l>0.

Finally, it follows from (1) and (2) that s(d,h,h,d)=0 for all d>0,h>1. Therefore, the lemma follows.

Next, we study the following problem ( $\mathbf{P_0}$ ) when s=0:

$$U'' + U(1 - U - kV) = 0 < U', (2.3)$$

$$V'' + rV(1 - V - hU) = 0 > V', \tag{2.4}$$

with

$$(U,V)(-\infty) = (0,1), (U,V)(+\infty) = (1,0),$$

where  $r \neq 1$ , h > 1, k > 1. Note that r = a/d.

**Lemma 2.2.** If (U, V) is a solution of  $(\mathbf{P_0})$ , then

$$\int_{-\infty}^{\infty} U^2 V' = -\frac{1}{3k}, \ \int_{-\infty}^{\infty} U' V^2 = \frac{1}{3h}, \tag{2.5}$$

$$\left(\frac{k}{3} - r\right) \int_{-\infty}^{\infty} U'V^3 + (1 - rh) \int_{-\infty}^{\infty} UU'V^2 - \int_{-\infty}^{\infty} U'V'V' = \frac{1 - 2r}{6h}, \quad (2.6)$$

$$\frac{2r}{3} \int_{-\infty}^{\infty} U' V^3 + 2rh \int_{-\infty}^{\infty} U U' V^2 - \int_{-\infty}^{\infty} U' V' V' = \frac{r}{3h}. \tag{2.7}$$

*Proof.* First, multiplying (2.3) by U' and integrating it over  $(-\infty, +\infty)$ , we get

$$\int_{-\infty}^{\infty} U'U'' + \int_{-\infty}^{\infty} U(1-U)U' = k \int_{-\infty}^{\infty} UU'V.$$

Then, by the boundary condition and the integration by parts, we can easily obtain

$$\int_{-\infty}^{\infty} U^2 V' = -\frac{1}{3k}.$$

The case for the value of  $\int_{-\infty}^{\infty} U'V^2$  is similar. This proves (2.5).

Next, multiplying (2.3) by VV' and integrating this equation over  $(-\infty, \infty)$ , we have

$$\int_{-\infty}^{\infty} U''VV' + \int_{-\infty}^{\infty} UVV' - \int_{-\infty}^{\infty} U^2VV' - k \int_{-\infty}^{\infty} UV^2V' = 0.$$

By (2.4) and the integration by parts, we get

$$-\int_{-\infty}^{\infty} U'V'V' + r \int_{-\infty}^{\infty} U'V^{2}(1 - V - hU) + \int_{-\infty}^{\infty} UVV' + \int_{-\infty}^{\infty} UU'V^{2} + \frac{k}{3} \int_{-\infty}^{\infty} U'V^{3} = 0.$$

Hence (2.6) follows from (2.5) and a direct computation.

Finally, multiplying (2.4) by UV' and integrating this equation over  $(-\infty, \infty)$ , it follows from (2.5) and the integration by parts that (2.7) holds. This completes the proof.

- 3. **Proofs of main theorems.** In this section, we give the proofs of the main theorems stated in Section 1. The main idea is to apply the information of standing wave with the help of the monotone dependence on parameters.
- 3.1. **Proof of Theorem 1.1.** The theorem follows from Lemma 2.1 and (2.2).  $\square$

3.2. **Proof of Theorem 1.2.** First, recall from Lemma 2.1(2) that s(d, h, h, d) = 0 for all h > 1, d > 0. It follows from (1.8) that  $\tilde{s}(d, dh, h/d, d) = 0$  for all h > 1, d > 0. Now, using (2.1) in  $\tilde{\mathcal{P}}$ , we have

$$\tilde{s}(a, d\hat{h}, \hat{h}/d, d) > 0,$$

if a > d > 0 and  $\hat{h} > a/d$ . This is equivalent to

$$s(a, h, k, d) > 0, \quad h = d\hat{h}/a, \quad k = a\hat{h}/d,$$

if a > d > 0 and  $\hat{h} > a/d$ , due to (1.8).

Next, for a > d > 0 and h > 1, we choose  $\hat{h} = ah/d$  so that  $\hat{h} > a/d$ . Then s(a, h, k, d) > 0 when  $k = a\hat{h}/d = (a/d)^2h$ . It follows from (2.2) that s(a, h, k, d) > 0, if a > d > 0 and

$$h > 1$$
,  $k \ge (a/d)^2 h$ .

Similarly, we can prove that s(a, h, k, d) < 0, if 0 < a < d, k > 1 and  $h \ge (d/a)^2 k$ . This proves Theorem 1.2.

3.3. **Proof of Theorem 1.3.** When a=d, the conclusion follows from Theorem 1.1. Without loss of generality, we may assume a>d>0. Suppose the conclusion is false. By Lemma 2.1(2), there exist  $a_1>d_1>0$ ,  $h_1>1$ ,  $k_1>1$ ,  $h_1>0$  such that  $h_1>0$ ,  $h_1>1$ ,  $h_1>0>0$ ,  $h_1>1$ ,  $h_1>0$ ,  $h_1>1$ ,  $h_1>1$ ,  $h_1>0$ ,  $h_1>1$ ,

$$s(a_1, h, k, d_1) > 0 > s(l_1 a_1, h, k, l_1 d_1),$$
 (3.1)

if  $(h,k) \in \{h = h_1, k > 1\} \cup \{h > 1, k = k_1\}$ . Indeed, this can be proved by a contradiction argument. Otherwise, there exists  $k \in (1, k_1)$  such that  $s(a_1, h_1, k, d_1) = 0$ . Then, by Lemma 2.1(2), we have  $s(l_1a_1, h_1, k, l_1d_1) = 0$ , a contradiction. The other cases are similar. Hence (3.1) follows.

Next, we choose two positive numbers  $\tilde{h}$  and  $k_2$  with  $\tilde{h} > h_1$  and  $k_2 > k_1$  such that  $d^2k_2 \ge a^2\tilde{h}$ . By Theorem 1.2, we have  $s(l_1a_1,\tilde{h},k_2,l_1d_1) > 0$ . But, by (3.1), we have  $s(l_1a_1,h_1,k_2,l_1d_1) < 0$ . Since s(a,h,k,d) is continuous on h, there exists  $h_2 \in (h_1,\tilde{h})$  such that  $s(l_1a_1,h_2,k_2,l_1d_1) = 0$ . This implies that  $s(a_1,h_2,k_2,d_1) = 0$ , by Lemma 2.1(2). On the other hand, (3.1) implies that  $s(a_1,h_2,k_1,d_1) > 0$ . It follows from (2.2) that  $s(a_1,h_2,k_2,d_1) > 0$ , a contradiction. So the theorem follows.  $\square$ 

3.4. **Proof of Theorem 1.4.** First, we define m := (a/d) - 1 > 0. Then, multiplying (1.2) by  $U^mV'$  and (1.3) by  $(1/d)U^mU'$ , respectively, and integrating it over

 $(-\infty, \infty)$ , we obtain

$$\begin{split} 0 &= \int_{-\infty}^{\infty} (U'V')'U^m + \left(1 + \frac{1}{d}\right) s \int_{-\infty}^{\infty} U^m U'V' + \left(\int_{-\infty}^{\infty} U^{m+1} V' + \frac{a}{d} \int_{-\infty}^{\infty} U^m U'V\right) \\ &- \left(\int_{-\infty}^{\infty} U^{m+2} V' + \frac{ah}{d} \int_{-\infty}^{\infty} U^{m+1} U'V\right) - \left(k \int_{-\infty}^{\infty} U^{m+1} VV' + \frac{a}{d} \int_{-\infty}^{\infty} U^m U'V^2\right) \\ &= -m \int_{-\infty}^{\infty} U^{m-1} U'U'V' + \left(1 + \frac{1}{d}\right) s \int_{-\infty}^{\infty} U^m U'V' + \left(m + 2 - \frac{ah}{d}\right) \int_{-\infty}^{\infty} U^{m+1} U'V' \\ &+ \left(\frac{(m+1)k}{2} - \frac{a}{d}\right) \int_{-\infty}^{\infty} U^m U'V^2 \\ &= -m \int_{-\infty}^{\infty} U^{m-1} U'U'V' + \left(1 + \frac{1}{d}\right) s \int_{-\infty}^{\infty} U^m U'V' + \left(\frac{a+d-ah}{d}\right) \int_{-\infty}^{\infty} U^{m+1} U'V' \\ &+ \frac{a(k-2)}{2d} \int_{-\infty}^{\infty} U^m U'V^2. \end{split}$$

Using the fact U' > 0 > V', the theorem follows.

3.5. **Proof of Theorem 1.5.** Suppose that (U, V) is a solution of  $(\mathbf{P_0})$  and that r = a/d > 1. Then, by (2.6) and (2.7), we have

$$\int_{-\infty}^{\infty} UU'V^2 = \frac{4r-1}{6h(3rh-1)} + \frac{k-5r}{3(3rh-1)} \int_{-\infty}^{\infty} U'V^3.$$
 (3.2)

Using 0 < V < 1 and the integration by parts, it follows from (2.5) that

$$\int_{-\infty}^{\infty} UU'V^2 < \int_{-\infty}^{\infty} UU'V = -\frac{1}{2} \int_{-\infty}^{\infty} U^2V' = \frac{1}{6k}.$$
 (3.3)

If we assume that  $k \geq 5r$ , then, by (3.2) and (3.3), we obtain

$$(3rh-1)h > (4r-1)k$$
.

Hence we see that

 $s(a, h, k, d) \neq 0$  if a > d > 0, h > 1,  $k \geq 5a/d$ ,  $(3ah - d)h \leq (4a - d)k$ . (3.4) Suppose that  $s(a_1, h_1, k_1, d_1) < 0$  for some  $(a_1, h_1, k_1, d_1)$  such that

$$a_1 > d_1 > 0$$
,  $h_1 > 1$ ,  $k_1 \ge 5a_1/d_1$ ,  $(3a_1h_1 - d_1)h_1 \le (4a_1 - d_1)k_1$ .

Then, by Theorem 1.4, we can choose a positive number  $h_2$  with  $1 < h_2 < \min\{h_1, 1 + d_1/a_1\}$  such that  $s(a_1, h_2, k_1, d_1) > 0$ . Since s(a, h, k, d) is continuous on h, there exists a positive number  $\tilde{h} \in (h_2, h_1)$  such that  $s(a_1, \tilde{h}, k_1, d_1) = 0$ . This contradicts (3.4), since  $(3a_1\tilde{h} - d_1)\tilde{h} \le (4a_1 - d_1)k_1$ . Hence the theorem follows.  $\square$ 

3.6. **Proof of Theorem 1.6.** When h = 1/(3r) and k = 5r, it follows from (2.6) and (2.7) that r = 1/4. Let d > 0 be given. Since r = a/d, we have

$$s(a, \frac{d}{3a}, \frac{5a}{d}, d) \neq 0$$
 if  $a \in (d/5, d/3) \setminus \{d/4\}.$ 

By the relation (1.8), we obtain

$$\tilde{s}(a, \frac{d}{3}, \frac{5}{d}, d) \neq 0$$
 if  $a \in (d/5, d/3) \setminus \{d/4\}$ .

However, for any positive numbers b, c with bc > 1, there exists a unique positive number  $\bar{a} = \bar{a}(b, c, d) \in (1/c, b)$  such that  $\tilde{s}(\bar{a}, b, c, d) = 0$ . So  $\tilde{s}(d/4, d/3, 5/d, d) = 0$ 

for all d > 0. In other words, s(d/4, 4/3, 5/4, d) = 0 for all d > 0. Hence the theorem follows from the monotone dependence on parameters (2.2).

**Acknowledgments.** This work was partially supported by the National Science Council of the Republic of China under the grant NSC 99-2115-M-032-006-MY3. We also thank the anonymous referee for some valuable comments.

## REFERENCES

- [1] C. Conley and R. Gardner, An application of the generalized Morse index to travelling wave solutions of a competitive reaction-diffusion model, Indiana Univ. Math. J., **33** (1984), 319–343.
- R. A. Gardner, Existence and stability of traveling wave solutions of competition models: A degree theoretic approach, J. Differential Equations, 44 (1982), 343–364.
- [3] J.-S. Guo and X. Liang, The minimal speed of traveling fronts for the Lotka-Volterra competition system, J. Dyn. Diff. Equat., 23 (2011), 353-363.
- [4] Y. Hosono, The minimal speed of traveling fronts for a diffusive Lotka-Volterra competition model, Bulletin of Math. Biology, 60 (1998), 435–448.
- [5] Y. Kan-on, Parameter dependence of propagation speed of travelling waves for competitiondiffusion equations, IAM J. Math. Anal., 26 (1995), 340–363.
- [6] Y. Kan-on, Existence of standing waves for competition-diffusion equations, Japan J. Indust. Appl. Math., 13 (1996), 117–133.
- Y. Kan-on, Stability of monotone travelling waves for competition-diffusion equations, Japan J. Indust. Appl. Math., 13 (1996), 343–349.
- [8] Y. Kan-on, Fisher wave fronts for the Lotka-Volterra competition model with diffusion, Nonlinear Analysis, TMA, 28 (1997), 145–164.
- [9] Y. Kan-on and E. Yanagida, Existence of nonconstant stable equilibria in competitiondiffusion equations, Hiroshima Math. J., 23 (1993), 193–221.
- [10] M. Mimura and P. C. Fife, A 3-component system of competition and diffusion, Hiroshima Math. J., 16 (1986), 189–207.
- [11] M. Rodrigo and M. Mimura, Exact solutions of a competition-diffusion system, Hiroshima Math. J., 30 (2000), 257–270.
- [12] M. M. Tang and P. C. Fife, Propagating fronts for competing species equations with diffusion, Arch. Rational Mech. Anal., 73 (1980), 69–77.

Received March 2012; revised September 2012.

E-mail address: jsguo@mail.tku.edu.tw
E-mail address: ying.chih.lin0916@gmail.com